
Year 5 Maths Easter Egg Hunt Activity 

 

Clue 1 

There are 50 pieces of fruit in a 

bowl. How many are bananas? 

Clue: 

12 are pears. 

Clue: 

3 are apples. 

Clue: 

There are no 

pineapples. 

Clue: 

7 are 

cherries. 

_____________________________________________________ 

 

 

Clue 2 

There are 36 Easter Eggs on the shop shelf. ½ are sold. How many are 

left now? 

 

 

 

_____________________________________________________ 

 

 

Clue 3 

Simon baked 65 gingerbread men to be shared amongst 5 children. How 

many did they get each? 

 
 

 

_____________________________________________________ 

    

       

 

H = 38 

A= 28 

P = 26 

W = 23 

S = 16 

K = 18 

B = 13        P = 15        J = 16  
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Clue 4 

 

 

 

 

 

 

 

 

_____________________________________________________ 

  

Clue 5 

Mrs Stone gets 42 new books. She lends ½ of them to Mrs Shipley. How 

many books does she lend to Miss Young? 

 

 

 

 

 

 

 

_____________________________________________________  

 

Clue 6 

 
1 chocolate egg costs 64p, how much does a box of 4 eggs cost 

altogether? 

 

 

 

 

 

 

C = Selena Gomez 

S = Miley Cyrus 

J = Miranda Cosgrove (iCarly star)  

K = 22           R = 20           T = 21 

64p 

N = £2.64 

E = £2.56 

R = £2.44 



 

You should now have 6 letters. When you put them in the right 

order they will spell a word… 

Work it out and make your way back to base camp! 

 

 

 

 

 

Maths Easter Hunt Answers: 

 

Unscrambled Word: BASKET 

1) A = 28 

2) K = 18 

3) B = 13 

4) S = Miley Cyrus 

5) T = 21 

6) E = £2.56 

 

 


